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second Paper (Cost Accounting)
PART-1 (OBJECTIVE)
What is opportunity cost?
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Give any two techniques of costing,
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What do you mean by indirect material ?
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What is meant by ghost worker?
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What do you mean by allocation of overheads?
Tqfeadi & T | AYS 7 W ¥ ?

Which method of costing is most suitable in coal industry?
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Explain escalation clause in the context of contract costing.
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What is operating costing method?
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Why cost and financial accounts are reconciled?
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What do you understand by Cost Control Account?
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Annual consumption of a commodity is 5,000 units. The per order
cost is Rs. 64 and per unit cost isRs. 100. The storage cost is 16%

of average cost of material. What will be the Economic Order
Quantity? :
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Plan with the help of fo
Standard output in 10 h
Actual output in 10 ho
Wages rate : Rs. 10.00
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The cost of manufacturing 400 units of an article was Rs. 1,600
when 600 units of the same article were produced, the cost incurred
was Rs. 2,000, segregate the fixed and variable part of the cost.
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What is the difference between by-product and joint product?
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From the following information ascertain profit as per cost books:
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Profit as per financial books 6,78,500
Items not recorded in cost accounts e.g. interest,

dividend and income from investments ' 41,500
Under charging of depreciation in financial books 11,500
Items not recorded in cost accounts e.g. loss on sale of
‘machinery, transfer to dividend fund and discount.on

issue of debentures

1,61,000
PART-II (DESCRIPTIVE) '

Maximum marks : 60
Section-A il :

Explain the following:—(i) Bin Card (ji) Material received note
(iii) Preventive costs (iv) Idle time (v) Wages abstract '-
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The following information relates to the activities of a production
department of a factory for a certain period :
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Direct Material

Rs. 50,000
Direct wages Rs. 30,000
Labour hours worked 10,000 hours
" Hours of machine operation 4,000 hours
Overhead chargeable to the department Rs. 20,000
The details of Job No, 555 carried out during the period were as

follows:



Direct Material  Rs. 2,00 " 5:;0 L] S
Direct Wages Rs. 1,500 ur hours a0

Prepare a COMparative statemen; !
methods of overhead absorption. of cost by using five different
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Section-B
. A contractor who prepares his account on 31st March each year,
commences the Contract No. 101 on 1st July, 2011, The
information on 31st March 2012 is as under :
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Material sent to site Rs. 251,000
Labour engaged Rs. 565,600
Foreman Rs. 81,300

A machine costing Rs. 2,60,000 has been on the site for 146 days.
Jts working life is estimated at 7 years and its final scrap value at
Rs. 15,000. A supervisor who is paid Rs. 8,000 per month had
devoted approximately 1/2 of his time to th.is contract. The other
experses and administration charges amounted to Rs. 1,36,500.
Material at site on 3 1st March, 2012 cost Rs. 35,400. The contract
pﬁce is Rs. 20 lakhs. Up to 31st March, 2012, 2!3 of the comract
was completed; architect’s certificate had been issued cuve_zr:rg‘
50% of the contract price and Rs. 7,50,000 had so far been paid it

cash on account.
Prepare the Contract Acco
should be credited to P & L Account
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unt and state as to how muc_h profit
for the year ending 31st
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6. Define process costing. Describe the general principles of this
+ type of costing and give its salient features. To which industries is
this method ‘applicable?
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Section C : )
7. The details regarding the composition and the weekly wages rates of
" Jabour force engaged on a job scheduled to be completed in 30 weeks .
are as follows:
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. Temmmi . |
Category Standard = - . Actual -
.of workers  No.of  Weekly wagerate No.of Weekly wage
. - laboureis per worker labourers rate per labour
Skilled 75 60 S0 %70
Semi-skilled 45 " 40 30 - 50
Unskilled. 60 30 8 . 20 _
The work is actually completed in 32 weeks. Calculate the varidus
labour variances. '
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8. - Write short notes on'the following : i R
(i) Break-even point (ii) Angle of incidence (iii) Margin of safefy
(iv) Profit graph (v) Contribution and contribution ratio '
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